BEERRR—=YREFBET7 T — b
T — NEBIR . SM2E2818~5M2E2H8291
EI&E# 0 25

Q1. EEEHEICOVWT
BB B4 pegcd L]
A& 10 15 0
R
@ l 25 40.0% 60.0% 0.0%

BR[| 100K | 104% 201K 301 401K 501% 60X [70RLLE| 79
@\ &# EIE=S24 0 0 0 1 5 2 5 12 0
E= 0.0% 0.0% 0.0% 4.0% 20.0% 8.0% 20.0% | 48.0% 0.0%

@ 151 @ #K

301%, 1

401X, 5
B4, 10

i, 15 70U,

12

50X, 2

601, 5

Q2. ¥Y—EXIZDWT

BEIRE RO PRER| 300 |[PerRER| TNEE TEA
EESTS 10 5 3 0 0 2
D=2 & v 7 O34
gaa | 40.0% | 20.0% | 32.0% | 0.0% 0.0% 8.0%
. BT 4 6 10 3 0 2
@ |EBOER - REITOVT
aa | 16.0% | 24.0% | 40.0% | 12.0% | 0.0% 8.0%
. % 6 5 10 2 0 2
B|EDE/LII>VT EEH
e | 24.0% | 20.0% | 40.0% | 8.0% 0.0% 8.0%

U E2—DY—EXIZDOWT

g, 10 P XmAE, 5 53,8 I<BH, 2
@R &y 73
IE, 4 PR E, 6 55,10 PR RE, 3 REE, 2
W E, 6 PR, 5 329,10 PRNEE, 2 | ANEE, 2
©-3(4



